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DE THI KIEM TRA XEP LO’P 5 (2017 - 2018)
MON TOAN TIENG ANH

Thoi gian lam bai: 60 phut — Hoc sinh khong dwoc swr dung may tinh

TIUONE: ceveeeiieeiee e

Fill your answer in the blank near to each question.

SODT PHHS: .o

No

Question

Your
answer

1

Circle the shape at the right which fits into the open space of the graph given below:

(Chon hinh phit hop d@é dién vao ché con trong cho phit hop qui ludt)

2
What is the cost of z ?
(Hoi qua dvra gia bao nhiéu dé la?)
3 | Find the missing term. (Tim so con thiéu)
15 | 9
7 772X 1L
26 \ ' |2 /18
13 [21
4 | Let 47A9B isa 6-digit number which is divisible by 36. Find the maximum
possible value of A.
(Cho 47A96B Id 56 c6 6 chit s6 va chia hét cho 36. Tim gid tri Iém nhdt cia A)
5 If the perimeters of square X and rectangle Y (given below) is equal. Find the side




of square X? ‘
(Néu chu vi cua hinh vuéng X va hinh chit nhat Y (nhuw dwéi day) la bang nhau. Tim
canh cua hinh vuong X)

X Y 15 cm

25 cm

How many blocks are there in the next figure?
(Hinh tiép theo c6 bao nhiéu 6 vuéng nho?)

Lkl

By adding another row of dots and counting all the dots we can find the next
number of the sequence. How many dots are there in 10-line object?

(Bang cdch thém vao 1 hang gom cdc cham va tinh tat cd sé cham & méi hinh ciia
day hinh dwdi day. Hoi c¢6 bao nhiéu chdm ¢ hinh gom 10 hang?)

Fill the digits from 1 to 9, each digit correctly used 1 time, in 9 squares in the
following sums to be correctly addition operation.

(Pién cdc chir s6 tir I dén 9, moi chiv 56 sir dung ding 1 lan vao 9 é vuéng sao cho
dwoc phép toan cong dung)

The ratios of three numbers, A, B and C, is 1: 2 : 3. The average of these three
numbers is 48. Find the value of A. ,
(Ti l¢é cua ba so A, B, Cla 1:2:3. Trung binh cong cua 3 so la 48. Tim gia tri cia A)

10

The following table shows the number of computers manufactured by two
companies in 4 weeks.
(Bang duwoi day mo ta so lwong may tinh dwoc san xudt boi 2 cong ty trong 4 tuan)




Week|Company A|Company B
1 24 24
2 36 48
3 30 24
4 24 36

Which of the following statements is not true?

(Cdu nao duwoi day khong dung?)

a) In 4 weeks Company A manufactured fewer computers than Company B.

(Trong 4 tudn céng ty A san xudt dwoc it mady tinh hon céng ty B)

b) In the f irst two weeks Company A manufactured more computers than Company
B.

(Trong 2 tudn ddu tién, céng ty A san xudt nhiéu mady tinh hon céng ty B)

c) In the last two weeks Company A manufactured fewer computers than Company
B.

(Trong 2 tuan cudi, cong ty A san xudt it mdy tinh hon céng ty B)

d) In the first and last week together Company A manufactured fewer computers
than Company B.

(Tinh tuan ddu tién va tuan cudi cing, cong ty A san xudt it may tinh hon céng ty B)

11

Find the next three numbers in the following pattern:
(Tim 3 so tiép theo cua ddy so sau)
5; 10; 40; 240; ; ;

12

How many consecutive digits 0 standing at the end that the result of
I x2x3x%x ... x 80 contains?
(C6 bao nhiéu chit sé 0 lién tiép lién nhau ¢ cuéi cing cia két qua phép tinh
I x2%x3x ... x 80)

13

Let 2% isaoperation that: 1 9% 3=4; 5 2=35; 4 2% 1=20.If8 2 A =80, then
A=2.

(Cho %¢la phép todan ma: 1 63 =14; 5 %2 =235; 4 %1 =20. Néu 8 %A = 80,
thi A bang bao nhiéu?)

14

An and Binh have some marbles. An talked to Binh: “If you give me one marble,
We will have the same number of marbles.” Binh said: “If you give me one marble,
my marbles will be twice as yours.” Find the number of An’s marbles, orginally?
(An va Binh co mot 56 vién bi. An ndi véi Binh: “Néu ban duwa t6i 1 vién bi, chung ta
€ ¢6 86 vién bi bang nhau”. Binh néi: “Néu ban dwa téi 1 vién bi, khi d6 sé vién bi
clia t6i sé gdp doi so vién bi ciia ban”

15

In the picture, the rectangle ABCD is constructed from four identical rectangles.
If the length of the segment BC is 1 cm, what is the length of the segment AB?
(Trong hinh duwoi day, hinh chir nhdat ABCD duoc tao thanh tie 4 hinh chit nhat
giong hét nhau. Néu canh BC dai 1cm thi canh AB dai bao nhiéu cm?)

D C

A B

16

Few cadets are standing in a row. Olivia is at 19th position from left, and Daniel




is standing at 9th position from right. If Olivia and Daniel, interchanges their
position, Daniel becomes 18th from right. How many cadets in the row?

(Mot s6 ban nhé dirng xép thanh 1 hang. Olivia dirng thir 19 tir bén trdi sang va
Daniel dimg thir 9 tir bén phdi sang. Néu Olivia va Daniel thay doi vi tri cho nhau,
Daniel sé dimg thir 18 tir phdi sang. Hoi ¢6 bao nhiéu ban nhé dang xép hang?)

17

How many triangles are there in the figure below ?
(Co bao nhiéu tam giac trong hinh duwoi day?)

18

There are 3 boys and 4 girls lining up in one row. How many ways to arrange these
children such that there are no two boys standing next to each other?

(C6 3 cdu bé va 4 ¢6 bé xép thanh 1 hang. Hoi ¢6 bao nhiéu cach sdap xép ho thanh
1 hang sao cho khong co 2 cqu bé nao ding canh nhau?)

19

Find the sum of all the number in the pattern below:

(Tinh tong tat cad cac so duoc sap xép theo qui ludt duoi day)
1
2 3
3 4

30 31 3233.

20

OOOOOOOOO

Arrange the digits from 1 to 9 in the circles in such a way that:
- 1 and 2 and all the digits between them add up to 9.

- 2 and 3 and all the digits between them add up to 19.

- 3and 4 and all the digits between them add up to 45.

- 4 and 5 and all the digits between them add up to 18.

(Write your answer in left to right order)

(Pién cdc chir s6 tir I dén 9 vao cdc vong tron trén sao cho:

- 86 1va 2 va tdt cd cac chir Sd o giita chung cong lgi bdng 9.
- 86 2 va 3 va tat ca cac chir so o gitta chung cong lai bang 19.
- 86 3 va 4 va tat cd cac chir SO o giita chung cong lai bang 45.
- 86 4 va 5 va tat ca cdc chit s6 ¢ giita ching céng lai bang 18.)

GOOD LUCK ©




